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ξ ( , ) = ( = , +1 = | ,λ(τ))
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λ(τ+1) = (π(τ+1), (τ+1), (τ+1))
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∑
=1 ( = | ,λ(τ))
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∑
=1 γ ( )
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∑ −1
=1 ( = , +1 = | ,λ(τ))
∑ −1
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∑
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∑
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���ɭɨɬŜ�

����� ���ɭɨɬ Ƈ
ŜŜŜ
ŵŵ ������ ������ �� ���ř ����� ��������� ��� �������� ����������� ������� ����

ŵŵ ���� ���� ��� �� ����Ş��Ş���������ř ��� ������ �� ����Ş��Ş�����
������ ������ ������ſ������ĺ ���ř ������ ������ƀ Ƈ

ŵŵ ��������� ��� �������� �����������
������ ������� ʰ ����ſſ���Ş������ƀŵſ������ʫ����ƀƀŚ
��� ʰ ������Ś ŵŵ ������ ��� ����������� �����
������ �������Ś

ƈ
ŜŜŜ

ƈŚ

����� ���ɭɨɬ Ƈ
ŜŜŜ
���� ���������ſ���śś������ʳ������ʴĺ �ƀ Ƈ ŵŵ ���������� ��������

������ ��� ʰ ɥŚ
���ſ��� �ʰɥŚ � ʳ ſ���ƀ�Ŝ����ſƀŚ ʫʫ�ƀ ��� ʫʰ �ƃ�ƄŚ
���ſ��� �ʰɥŚ � ʳ ſ���ƀ�Ŝ����ſƀŚ ʫʫ�ƀ �ƃ�Ƅ ŵʰ ���Ś

ƈ
���� �������ſƀ Ƈ

���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ
������Ŝ����ƃɥƄƃ�Ƅ ʰ ���ƃ�Ƅ Ƌ ����Ŝ����ƃ�Ƅƃ����ƃɥƄƄŚ

���ſ��� �ʰɨŚ � ʳ ������Ś ʫʫ�ƀ Ƈ
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ Ƈ

������Ŝ����ƃ�Ƅƃ�Ƅ ʰ ɥŚ
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ Ƈ

������Ŝ����ƃ�Ƅƃ�Ƅ ʫʰ ſ������Ŝ����ƃ�ŞɨƄƃ�Ƅ Ƌ �����Ŝ����ƃ�Ƅƃ�Ƅ
Ƌ ����Ŝ����ƃ�Ƅƃ����ƃ�ƄƄƀŚ

ƈ
ƈ
���������ſ������Ŝ����ƃ�ƄƀŚ ŵŵ ƋƋ��� ���� ����ƋƋ

ƈ
ƈ
ŜŜŜ

ƈŚ



������ɭɨɬŜ�

�������� ʳ����� �ʴ
���� ������ɭɨɬʳ�ʴśś����ſ� ���ƀ Ƈ

��� �� ʰ �������ſƀŚ
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

���śś����ſ����ƃ�ƄŜ�����ſƀř����ƃ�ƄŜ���ſƀř���ƀŚ
ƈ

ƈ

������ɭɨɬŜ�

ŵŵ ����� ��� ������� �� ������
�������� ʳ����� �ʴ
���� ������ɭɨɬʳ�ʴśś�����ſ���śś�������ĺ �ƀ Ƈ

��� �� ʰ �������ſƀŚ
��� �� ʰ �������ſƀŚ

���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

�� ſ � ʴ ɥ ƀ � ʳʳ ɑɎ�ɑŚ
� ʳʳ ����ƃ�Ƅƃ�ƄŚ

ƈ
� ʳʳ ���śś����Ś

ƈ
ƈ

ŵŵ ������ � ���� �� ſɤ ����ř �������� ����ƀ ����� ���������
���śś����ʳ���ř������ʴ ���ɭɨɬśś���������ſ������ ���ƀ Ƈ

ŵŵ ��������� ��������� �� ��� ����������

������ɭɨɬʳ������ʴ ���ſ�������ř�������ƀŚ ŵŵ ��ſ�ɏƇ�ʫɨƈ ʰ � Ŷ �ɏ� ʰ �ƀ
������ɭɨɬʳ������ʴ ������ſ�������ř�������ƀŚ ŵŵ ���ɏ� ���ſ�ř�ƀ
������ɭɨɬʳ������ʴ ������
�����ſ�������ř����ƀŚ ŵŵ ���ɏ� ������ſ�ƀ�ſ�ɏ�ʰ�ƀ
���śś������ʳ������ʴ ���
�����ſ�������ƀŚ ŵŵ ���ɏ� ������ſ�ƀ
������ ���ř ���ř ������� ʰ ɨŜŚ

��� ����Ś
���ſ����ʰɥŚ ſ���� ʳ ���ɏ���������ƀ ĺĺ ſ ������� ʴ ��� ƀŚ ʫʫ����ƀ Ƈ

������� ʰ ɥŚ

ŵŵ �Ş���� ś ������� ��ſ�Ŷ�ř������ƀ
���������������ſƀŚ

ŵŵ ���������� ��������� �������
���śś����ſ���
�����Ŝ�����ſƀř���
�����Ŝ���ſƀřɥƀŚ
������Ŝ����ſɥƀŚ ������
�����Ŝ����ſɥƀŚ ���Ŝ����ſɥƀŚ

ŵŵ �Ş���� ś ������� ���ř �����ř ��� ����
���ſ��� �ʰɥŚ � ʳ ������ŞɩŚ ʫʫ�ƀ Ƈ

��� ʰ ɥŚ ŵŵ ��� ������ ��� �� ���
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ

���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ
��� ʫʰ ſ���Ŝ����ƃ�Ƅƃ�Ƅ ʰ ������Ŝ����ƃ�Ƅƃ�Ƅ Ƌ �����Ŝ����ƃ�Ƅƃ�Ƅ

Ƌ �����Ŝ����ƃ�ʫɨƄƃ�Ƅ Ƌ ����Ŝ����ƃ�Ƅƃ����ƃ�ʫɨƄƄƀŚ
ŵŵ ������ ���
�����ř ������
����ř ������
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ Ƈ

���
�����ƃ�Ƅ ʫʰ ������Ŝ����ƃ�Ƅƃ�ƄŚ
������
�����Ŝ����ƃ�Ƅƃ����ƃ�ƄƄ ʫʰ ������Ŝ����ƃ�Ƅƃ�ƄŚ
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ

������Ŝ����ƃ�Ƅƃ�Ƅ ʫʰ ſ���Ŝ����ƃ�Ƅƃ�Ƅ ŵʰ ���ƀŚ
ƈ

ƈ



���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ Ƈ
������� ʫʰ ������ſ ���ƃ�Ƅř ���
�����ƃ�Ƅŵſ������Şɨƀ ƀŚ
���ſ��� �ʰɥŚ � ʳ �������Ś ʫʫ�ƀ Ƈ

������� ʫʰ ������ſ�����Ŝ����ƃ�Ƅƃ�Ƅř
������Ŝ����ƃ�Ƅƃ�Ƅ ŵ ſ���
�����ƃ�Ƅ Ş ������Ŝ����ƃ������ŞɨƄƃ�Ƅ ʫ ����ƀƀŚ

ƈ
���ſ��� �ʰɥŚ � ʳ ����Ś ʫʫ� ƀ Ƈ

������� ʫʰ ������ſ����Ŝ����ƃ�Ƅƃ�Ƅř
������
�����Ŝ����ƃ�Ƅƃ�Ƅ ŵ ſ���
�����ƃ�Ƅ ʫ ����ƀ ƀŚ

ƈ
ƈ

ƈ
������ ���śś����ʳ���ř������ʴſ����ř�������ƀŚ

ƈ

= {1, 2, · · · , 6}
= { , 1− , · · · , 6− }

π = {0.70, 0.05, 0.05, · · · , 0.05}

=





0.94 0.01 0.01 0.01 0.01 0.01 0.01
0.01 0.94 0.01 0.01 0.01 0.01 0.01
0.01 0.01 0.94 0.01 0.01 0.01 0.01
0.01 0.01 0.01 0.94 0.01 0.01 0.01
0.01 0.01 0.01 0.01 0.94 0.01 0.01
0.01 0.01 0.01 0.01 0.01 0.94 0.01
0.01 0.01 0.01 0.01 0.01 0.01 0.94





=





1/6 1/6 1/6 1/6 1/6 1/6
0.95 0.01 0.01 0.01 0.01 0.01
0.01 0.95 0.01 0.01 0.01 0.01
0.01 0.01 0.95 0.01 0.01 0.01
0.01 0.01 0.01 0.95 0.01 0.01
0.01 0.01 0.01 0.01 0.95 0.01
0.01 0.01 0.01 0.01 0.01 0.95





����ſƀ

ɤ������� ʳ��������ʴ
ɤ������� ʳ�������ʴ
ɤ������� ɑ������ɭɨɬŜ�ɑ
ɤ������� ɑ���ɭɨɬŜ�ɑ
��� ����ſ��� ����ř ����ƋƋ ����ƀ Ƈ

�� ſ ���� Šʰ ɬ ƀ Ƈ
���śś���� ʳʳ ɑ�����ś ��������� ƃ�����ɥƄ ƃ����ɥƄ ƃ���ɥƄ ƃ���Ƅɑ ʳʳ ���śś����Ś
������ ŞɨŚ

ƈ

���śś������ʳ���ʴ ���Ś
������ɭɨɬʳ������ʴ �����ſ����ƃɨƄƀŚ
��� �� ʰ �����Ŝ�������ſƀŚ
�� ſ �� Šʰ �����Ŝ�������ſƀ ƀ Ƈ

���śś���� ʳʳ ɑ���������� ������ �� ��� ������ɑ ʳʳ ���śś����Ś
������ ŞɨŚ

ƈ

������ɭɨɬʳ������ʴ ����ſ����ƃɩƄƀŚ

����ſƀ

�� ſ �� Šʰ ����Ŝ�������ſƀ ƀ Ƈ
���śś���� ʳʳ ɑ�������� ��� ���������� �������� �� ��� �����ɑ ʳʳ ���śś����Ś
������ ŞɨŚ

ƈ
��� �� ʰ ����Ŝ�������ſƀŚ

����	���	���ʳ���ʴ ſ���ř ����ƃɫƄƀŚ
��� �� ʰ ſ���ƀ���Ŝ����ſƀŚ

���ɭɨɬ ���ſ��ř ��ř ��ƀŚ

����	���	���ʳ������ʴ ſ���Ŝ���ř ����ƃɪƄƀŚ
�� ſ �� Šʰ ſ���ƀ���Ŝ���Ŝ����ſƀ ƀ Ƈ

���śś���� ʳʳ ɑ���������� ��� ����� �������� �� ��� �����ɑ ʳʳ ���śś����Ś
������ ŞɨŚ

ƈ
���Ŝ����� ʰ �����Ś
���Ŝ���� ʰ ����Ś
���Ŝ���� ʰ ���Ś



����ſƀ

���śś����ʳ���ř������ʴ ������ ʰ ���Ŝ���������ſɨ�ŞɭƀŚ

���śś���� ʳʳ ɑɤ ���������� ś ɑ ʳʳ ������Ŝ����� ʳʳ ɑɎ�ɑŚ
���śś���� ʳʳ ɑ��� �������� ��		 ś ɑ ʳʳ ������Ŝ������ ʳʳ ���śś����Ś
���śś���� ʳʳ ���śś����� ʳʳ ���śś������������ſɬƀŚ
���śś���� ʳʳ ɑ���śɑ ʳʳ ���śś����Ś
���ſ��� �ʰɥŚ � ʳ ��Ś ʫʫ�ƀ Ƈ

�� ſ � ʴ ɥ ƀ ���śś���� ʳʳ ɑɎ�ɑŚ
���śś���� ʳʳ ���Ŝ���ƃ�ƄŚ

ƈ
���śś���� ʳʳ ���śś����Ś
���śś���� ʳʳ ɑŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞɑ ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ�����śɑ ʳʳ ���śś����Ś
���Ŝ�����Ŝ�����ſ���śś����ƀŚ
���śś���� ʳʳ ɑŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞɑ ʳʳ ���śś����Ś
���śś���� ʳʳ ɑ����śɑ ʳʳ ���śś����Ś
���Ŝ����Ŝ�����ſ���śś����ƀŚ
���śś���� ʳʳ ɑŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞɑ ʳʳ ���śś����Ś
������ ɥŚ

ƈ

ɛ Ŝŵ��������� �����Ŝ����Ŝ��� ����Ŝ����Ŝ��� ���Ŝ����Ŝ��� ����Ŝ����Ŝ���
ɤ ���������� ś ɩɪ ��� �������� ��		 ś ɰŜɯɥɫɪɨ�Şɥɮ
���ś
ɥŜɨɫɰɬɨ ɥŜɨɪɬɯɩ ɥŜɨɩɮɩɪ ɥŜɨɭɮɫɬ ɥŜɨɫɬɨɯ ɥŜɨɪɮɪɭ ɥŜɨɪɮɪɰ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
�����ś
ɥŜɰɫɨɬɰ ɥŜɥɥɰɩɫ ɥŜɥɨɨɨɨ ɥŜɥɨɨɩɭ ɥŜɥɥɮɫɨ ɥŜɥɨɪɮɫ ɥŜɥɥɬɭɰ
ɥŜɥɨɥɨɯ ɥŜɰɪɪɨɯ ɥŜɥɥɯɮɥ ɥŜɥɨɨɪɫ ɥŜɥɥɰɫɪ ɥŜɥɨɪɨɮ ɥŜɥɨɫɥɨ
ɥŜɥɥɭɥɫ ɥŜɥɨɭɪɩ ɥŜɰɪɮɯɥ ɥŜɥɥɯɯɫ ɥŜɥɨɩɨɬ ɥŜɥɨɥɩɰ ɥŜɥɥɯɬɬ
ɥŜɥɨɨɯɰ ɥŜɥɥɯɮɫ ɥŜɥɥɯɬɬ ɥŜɰɫɮɰɯ ɥŜɥɥɰɪɩ ɥŜɥɥɮɩɫ ɥŜɥɥɭɫɨ
ɥŜɥɨɨɮɩ ɥŜɥɥɯɬɰ ɥŜɥɥɮɪɬ ɥŜɥɥɰɬɮ ɥŜɰɫɭɫɬ ɥŜɥɥɭɯɯ ɥŜɥɥɰɫɫ
ɥŜɥɥɯɮɫ ɥŜɥɥɰɭɰ ɥŜɥɨɥɭɭ ɥŜɥɨɩɥɭ ɥŜɥɥɯɯɭ ɥŜɰɪɮɮɮ ɥŜɥɨɩɪɬ
ɥŜɥɨɩɨɬ ɥŜɥɨɨɫɪ ɥŜɥɥɯɥɪ ɥŜɥɨɥɨɥ ɥŜɥɥɮɮɫ ɥŜɥɥɯɮɭ ɥŜɰɫɨɯɥ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
����ś
ɥŜɨɭɪɬɮ ɥŜɨɭɯɬɰ ɥŜɨɮɨɫɨ ɥŜɨɭɫɩɨ ɥŜɨɬɰɰɬ ɥŜɨɮɩɩɮ
ɥŜɰɫɰɥɯ ɥŜɥɨɥɬɩ ɥŜɥɨɥɩɭ ɥŜɥɨɫɬɥ ɥŜɥɥɭɭɰ ɥŜɥɥɯɰɬ
ɥŜɥɥɭɩɫ ɥŜɰɬɥɯɨ ɥŜɥɨɥɬɬ ɥŜɥɨɪɰɩ ɥŜɥɥɰɪɭ ɥŜɥɥɰɨɩ
ɥŜɥɨɨɨɪ ɥŜɥɨɨɨɮ ɥŜɰɬɥɩɪ ɥŜɥɥɯɩɭ ɥŜɥɥɰɫɯ ɥŜɥɥɰɮɫ
ɥŜɥɨɥɨɩ ɥŜɥɥɯɮɨ ɥŜɥɥɰɯɰ ɥŜɰɬɨɩɨ ɥŜɥɨɥɬɨ ɥŜɥɥɰɬɭ
ɥŜɥɥɯɮɮ ɥŜɥɥɯɫɯ ɥŜɥɥɰɯɪ ɥŜɥɥɯɩɮ ɥŜɰɬɬɨɪ ɥŜɥɥɰɬɨ
ɥŜɥɥɰɬɭ ɥŜɥɥɯɮɫ ɥŜɥɥɮɩɩ ɥŜɥɥɰɯɨ ɥŜɥɨɪɪɯ ɥŜɰɬɨɩɯ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ

ɛ Ŝŵ��������� �����ɥŜ����Ŝ��� ����ɥŜ����Ŝ��� ���ɥŜ����Ŝ��� ����Ŝ����Ŝ���
ɤ ���������� ś ɩ ��� �������� ��		 ś ɥ
���ś
ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ ɥŜɨɫɩɯɬ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
�����ś
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ ɥŜɨɫɩɯɭ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
����ś
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ɥŜɨɭɥɥɩ ɥŜɨɬɪɨɩ ɥŜɨɰɨɩɮ ɥŜɨɮɥɩɮ ɥŜɨɭɩɨɮ ɥŜɨɭɪɨɮ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ

ɛ ��� ����ɨŜ����Ŝ���
ɥŜɨɭɭɭɭɭɭɮ ɥŜɨɭɭɭɭɭɭɮ ɥŜɨɭɭɭɭɭɭɮ ɥŜɨɭɭɭɭɭɭɮ ɥŜɨɭɭɭɭɭɭɮ ɥŜɨɭɭɭɭɭɭɮ
ɥŜɬ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ
ɥŜɨ ɥŜɬ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ
ɥŜɨ ɥŜɨ ɥŜɬ ɥŜɨ ɥŜɨ ɥŜɨ
ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɬ ɥŜɨ ɥŜɨ
ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɬ ɥŜɨ
ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɨ ɥŜɬ



ɛ Ŝŵ��������� �����ɥŜ����Ŝ��� ����ɨŜ����Ŝ��� ���ɥŜ����Ŝ��� ����Ŝ����Ŝ���
ɤ ���������� ś ɪɮ ��� �������� ��		 ś ɮŜɬɥɮɰɯ�Şɥɮ
���ś
ɥŜɨɫɰɬɨ ɥŜɨɪɬɯɩ ɥŜɨɩɮɩɪ ɥŜɨɭɮɫɬ ɥŜɨɫɬɨɯ ɥŜɨɪɮɪɭ ɥŜɨɪɮɪɰ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
�����ś
ɥŜɰɫɨɬɰ ɥŜɥɥɰɩɫ ɥŜɥɨɨɨɨ ɥŜɥɨɨɩɭ ɥŜɥɥɮɫɨ ɥŜɥɨɪɮɫ ɥŜɥɥɬɭɰ
ɥŜɥɨɥɨɯ ɥŜɰɪɪɨɯ ɥŜɥɥɯɮɥ ɥŜɥɨɨɪɫ ɥŜɥɥɰɫɪ ɥŜɥɨɪɨɮ ɥŜɥɨɫɥɨ
ɥŜɥɥɭɥɫ ɥŜɥɨɭɪɩ ɥŜɰɪɮɯɥ ɥŜɥɥɯɯɫ ɥŜɥɨɩɨɬ ɥŜɥɨɥɩɰ ɥŜɥɥɯɬɬ
ɥŜɥɨɨɯɰ ɥŜɥɥɯɮɫ ɥŜɥɥɯɬɬ ɥŜɰɫɮɰɯ ɥŜɥɥɰɪɩ ɥŜɥɥɮɩɫ ɥŜɥɥɭɫɨ
ɥŜɥɨɨɮɩ ɥŜɥɥɯɬɰ ɥŜɥɥɮɪɬ ɥŜɥɥɰɬɮ ɥŜɰɫɭɫɬ ɥŜɥɥɭɯɯ ɥŜɥɥɰɫɫ
ɥŜɥɥɯɮɫ ɥŜɥɥɰɭɰ ɥŜɥɨɥɭɭ ɥŜɥɨɩɥɭ ɥŜɥɥɯɯɭ ɥŜɰɪɮɮɮ ɥŜɥɨɩɪɬ
ɥŜɥɨɩɨɬ ɥŜɥɨɨɫɪ ɥŜɥɥɯɥɪ ɥŜɥɨɥɨɥ ɥŜɥɥɮɮɫ ɥŜɥɥɯɮɭ ɥŜɰɫɨɯɥ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ
����ś
ɥŜɨɭɪɬɮ ɥŜɨɭɯɬɰ ɥŜɨɮɨɫɨ ɥŜɨɭɫɩɨ ɥŜɨɬɰɰɬ ɥŜɨɮɩɩɮ
ɥŜɰɫɰɥɯ ɥŜɥɨɥɬɩ ɥŜɥɨɥɩɭ ɥŜɥɨɫɬɥ ɥŜɥɥɭɭɰ ɥŜɥɥɯɰɬ
ɥŜɥɥɭɩɫ ɥŜɰɬɥɯɨ ɥŜɥɨɥɬɬ ɥŜɥɨɪɰɩ ɥŜɥɥɰɪɭ ɥŜɥɥɰɨɩ
ɥŜɥɨɨɨɪ ɥŜɥɨɨɨɮ ɥŜɰɬɥɩɪ ɥŜɥɥɯɩɭ ɥŜɥɥɰɫɯ ɥŜɥɥɰɮɫ
ɥŜɥɨɥɨɩ ɥŜɥɥɯɮɨ ɥŜɥɥɰɯɰ ɥŜɰɬɨɩɨ ɥŜɥɨɥɬɨ ɥŜɥɥɰɬɭ
ɥŜɥɥɯɮɮ ɥŜɥɥɯɫɯ ɥŜɥɥɰɯɪ ɥŜɥɥɯɩɮ ɥŜɰɬɬɨɪ ɥŜɥɥɰɬɨ
ɥŜɥɥɰɬɭ ɥŜɥɥɯɮɫ ɥŜɥɥɮɩɩ ɥŜɥɥɰɯɨ ɥŜɥɨɪɪɯ ɥŜɰɬɨɩɯ
ŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞŞ

π = 1/

=

{
θ "=
1− −1θ =

( )

( 2 )

α ( ) = ( 1, · · · , , = |λ) =
[∑

=1 α −1( )
]

( )

α ( ) =
[∑

=1 α −1( )
]

( )

=
[
(1− −1θ)α −1( ) +

∑
"= α −1( )

θ
]

( )

=

[
(1− θ)α −1( ) +

θ
]

( )

∑
α ( ) = 1

( )



β ( ) = ( +1, · · · , | = ,λ) =
∑

=1

β +1( ) ( +1)

β ( ) =
∑

=1

β +1( ) ( +1)

= (1− −1θ)β +1( ) ( +1) +
θ ∑

"= β +1( ) ( +1)

= (1− θ)β +1( ) ( +1) +
θ

∑
β ( ) ( ) = 1

ɤ������� ʳ�����ʴ
ɤ������� ɑ������ɭɨɬŜ�ɑ
����� ����ɭɨɬ Ƈ
������ś
��� �Ś ŵŵ ������ �� ������ ��� ������������
��� �Ś ŵŵ ������ �� ���� �����Ś
������ �����Ś ŵŵ �����ſ�ř�ƀ ʰ �����ŵ� �� ſ � Šʰ �ƀ
������ɭɨɬʳ������ʴ ����Ś
������ɭɨɬʳ������ʴ ������Ś
������ɭɨɬʳ������ʴ �����Ś
������ɭɨɬʳ������ʴ ������Ś
���śś������ʳ���ʴ ����Ś
����ɭɨɬſ��� ɏ�ř ��� ɏ�ř ��� ɏ�ƀŚ
ŵŵ ����������� ś ����� ��� ���� ��� �� �� ��� ����������

���� ��������������ſ���śś������ʳ������ʴĺ �ƀŚ ŵŵ ��������� ������
���� �������������ſ���śś������ʳ������ʴĺ �ř ��� �ƀŚ ŵŵ ��������� �����
������ �����ſ��� �ř ��� �ƀ Ƈ ŵŵ ���������� �����������

������ ſ � ʰʰ � ƀ ţ ſ ɨ Ş ����� ʫ ����� ŵ � ƀ ś ����� ŵ �Ś
ƈ
���� �������ſƀŚ ŵŵ ��������� ������� ���������
���� ��������ſƀŚ ŵŵ ��������� �������� ���������
���� ���������������ſƀŚ ŵŵ �������Ş�������� ���������

ƈŚ

ŜŜŜŜ
ɰɰɥ ɩɮ ɥŜɥɥɥɨɩɮɫɪɩ ɥŜɥɥɥɨɩɮɫɪɩ
ɰɰɨ ɭɯ ɥŜɰɰɰɰɰɭ ɥŜɰɰɰɰɰɭ
ɰɰɩ ɭɯ ɥŜɰɰɰɰɰɭ ɥŜɰɰɰɰɰɭ
ɰɰɪ ɭɪ ɥŜɥɥɥɨɩɰɥɥɮ ɥŜɥɥɥɨɩɰɥɥɮ
ɰɰɫ ɭɯ ɥŜɰɰɰɰɯɯ ɥŜɰɰɰɰɯɯ
ɰɰɬ ɨ ɥŜɥɥɥɨɩɰɥɥɰ ɥŜɥɥɥɨɩɰɥɥɰ
ɰɰɭ ɭɯ ɥŜɰɰɰɰɰɭ ɥŜɰɰɰɰɰɭ
ɰɰɮ ɭɯ ɥŜɰɰɰɰɰɭ ɥŜɰɰɰɰɰɭ
ɰɰɯ ɯɬ ɥŜɥɥɥɨɫɥɯɥɪ ɥŜɥɥɥɨɫɥɯɥɪ
ɰɰɰ ɭɯ ɥŜɰɰɰɰɬɮ ɥŜɰɰɰɰɬɮ
ɨɥɥɥ ɭɯ ɥŜɰɰɯɯɮɬ ɥŜɰɰɯɯɮɬ
������� ���ś ɥŜɥɰ �������
������� ���ś ɫŜɯɯ �������




